Equations
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Stuff that you should know!
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1) Three point charges are along the x-axis. Charge gi=-4.50 nC is at x=0.200 m, and charge g-
2=+2.5 nC is at x=-0.300 m. A positive point charge qs is located at the origin.

a) What must the value of qa be for the net force on this point charge to have a magnitude of L} x , ‘) /y
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b) What is the direction of the net force on gs? (2 pts)
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c) Where along the x-axis can qs be placed so that the net force on it is zero, other than the

trivial answers x==. (4 pts)
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2) Positive point-charges of 20 #Care fixed at two of the vertices of an equilateral triangle with sides
of 2.0 m. Determine the magnitude of the electric field at the third
vertex. (10 pts)

E=E=E,= hl_ (‘\Xlo"/v'“)Oo{g;%*ﬂ.é‘xwﬂv/(

SEy = E, Gales)~ E, Cag (669 = E Co4e) - E ol = O
5 Ey = E San(ed+ By S4i(60) = AE S (407)
4 iEa (Y. SXIPw)e) G, (o) = 7. 74X 10 W

Test 1 Review Page 4



Page 3

Wednesday, February 11, 2015 7:10 AM

Test 1 é) V, 4/64@

3) An electron with speed vﬂﬁz 1.5x10°m/ sis traveling parallel to an electric field of magnitude

E=77x10°N/C. - E
o €— O—V,

a) How far will it travel before it stops?2 (5 pts)
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b) How much time elapse before it returns to its starting point? (5 pts)
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4) Consider a positive point charge surrounded by a spherical shell with a negative charge. Find the
electric field:

a) Between the point charge and the shell (region I). (5 pts)
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b) Outside the spherical shell (region II). (5 pts)
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